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@ | Instructions :
1. yrRft Rrarerent wifge garea i . 1. Fill in every information asked for.
2 wd yeT [ 2. Attempt all questions.
3. WS HeNEel Wieeledr ia A, Qe 3. Write the answer with explanation in
N the blank space below each question.
‘ 4. Use the blank space provided on each
4. PE PHIEES FeAD TR feetel S page for rough work.
A, 5. If you want to rewrite the solution of a
5. tEEl W fofeclel S| ® FeT N question cancelling the original, write it

SR TogF fomaa oMd @R a4 ddel on the last blank page.
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1) g9 TN PRUATATS! 4 & AT 7S5 JBT GwA A0 sRisA, FSATEIDT, [OMBR
WA JTieh! vl fovam amawe 2016 & e forgr. 4

1) Welcome the year 2016.

Write the number 2016; using the digit 4 nine times and using any of the operations of
addition, subtraction, multiplication and division. 4
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2) ﬁ@?ﬂamﬁmmmﬁwmﬁ@aﬁwﬁeﬁmm@faﬁmaﬁ;
AT QI T AT Rt ? pioears 4

2) A two-digit number is added to the number obtained by interchanging its digits and the
sum is a perfect square. How many such numbers are there? Which are the numbers? 4
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3) T BT aR HHF 9 A HAT VMR AHIT AgH ara 3t wvar fomgr. 4
3) Write the smallest seven digit number, having all different digits and divisible by 9. 4
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4) Tl A BIEl BT DIEl GGANTo! DIel G Huild ddall. IRIS! mal X 2000/ -

S g1d AT, WM SR e YA qlede qedrardl =l aroieR@ Bdel! R, R
1T et =TT T et I ? 4

| 4) A person borrowed some money for a certain period at a certain rate. He had to pay an
interest of < 2000/- How much interest would he have required to pay, if the principal
was double, period one and a half time and the rate of interest half ? 4
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5) GRIEl A I B a1 O FUCid figm 120 IR Idd. A Hiet 20 e B 7Y
3aeht. Fox B Atfiet 35 TXAP A HY 3acll, degl qaidicl Gl Tl FHHE el TR
goardien Y Hurerd fbd! T gl ? 4

5) The total number of books in cupboards A and B was 120. From cupboard A, 20 books
were moved to B. Then 35 books from B were moved to A, thereby making the number
of books in both the cupboards equal. How many books were in each cupboard initially?

4
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ST grere Hescicder x afr y ot fma oMY foram, 4
6) Find the relation among the numbers in each of the first three grids given below. Hence
find the values of x and y in the fourth and fifth grid. 4
13| 4 12| 5 18] 5 20 x il 2
712 34 iy 915 [0 1
(1) (2) (3) (4) ()

h————q_——.__————-——-—

Rough Work /&% &H 3 il




e e e

7) 17.25,33. 41,49, ........ & IAMEIfobdiel T4 3 99 39ele] diF 3ibT Jiaag =513

T PIUAT ? 4
7)  Which is the greatest three digit number having all equal digits in the following number
sequence 17, 25, 33,41, 49, ........ ? 4
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8) I Seied] IR Hes TS ufeedn i WRerEr [eR 7429 R ST e

A AT [UThR 12673 3R, &% T 6T BIvedr? 4
8) Of the four prime numbers in serial order, the product of the first three is 7429 and the
product of the last three is 12673. Find the four numbers. 4
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9) it TR AFT S TR IR, cATIHY TR Hoftear rered qAge Hicdl Jeftd T 37
ffRer oR U U il G oif W dOR g, IRl ol auiHl qaren ana o
A WA, R T 3ot I P IATed ? 5

9) Mr. Das has two daughters. If he writes the present age of the younger daughter followed
by the present age of the elder daughter, the number obtained is a square of a single digit
number. After three years, the same relation will exist between their ages. What are the

present ages of the daughters ? 5
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10) 72145A6BC & 880 AT H&IAT HIT AR} b WAl 318, O A, B, C T i1 a7 T

qa fhadT Prar.

10) 72145A6BC is a number divisible by 880. Find all possible values of A, B and C. 5
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11) gigroides Pral 5 udTE, HIE 2 Budidl, FE 1 vt T HTE 50 derih; areft wur

7 0t TR, Fd A0FE TRUr fFT 10 T gd. @R e S ude yewd! fand
AT0f 3T ?

11) Harshada has some coins of denomlnations of ¥ 5, ¥ 2, ¥ 1 and 50 paise. If the total

number of coins is 7 and their total value is ¥ 10, find the number of coins of each
denomination.
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12) Teh WgT 3t [T AT T FEAAA 37 Ieie shA forg AUy & It s¥iet

xy11219 A4, R x—y & fh9a @rer. =8
12) A six - digit number is added to the number obtained by reversing its digits. The sum

obtained is xy11219. Find the value of (x — y) 5
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13) 9T, LIABCD g8 3R &3 31T rea 5
L 25 o 20 d aRa. @R BEifka A T ;
W SREenE 2 M. T, spherer A [T
| FHIR 3RTelel I Aed. v o1 Rt aRfet i
Plcl.
D C

13) Suppose, as shown in the given figure, TABCD is

LT

a rectangular plot, measuring 25 m x 20 m. There
are roads parallel to the sides of the plot and of 2 m
width, as shown by the shaded region. Find the
perimeter of the roads.
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14) @t 7.5 &t ofor ¥} 4 HH SIS AT PIE. AT ST IRE PRI SO

a4 PIGT. Bl HoraT Gardr T 6
14) Draw a rectangle of length 7.5 ¢cm and breadth 4 cm. Draw a circle passing through the
vertices of the rectangle. Explain your method. 6
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15) Weg8 WIMHR F B!, 801497561 + 55 I HFTBRIT SXUR! dTehl HlaT. 6
15) Find the remainder, if 801497561 is divided by 55, without carrying out the division. 6
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16)ABCT1 & U 3Pl TR ABC I TARAVHT 56600 = "I 3Me. a¥ ABC & T&
PIUTCT ? 6

16) The five digit number ABC71 is greater than A BC by 56600. Find the number 4BC. 6
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17)94BCDEFGY & T 7% 3 I IR a1 T HaH AT Dloredrgr b

3Tl 9T 20 A, TR D & DUICET 3 37 7 MY il T forar. 6
17) 94BCDEFG9 is a nine digit number. The sum of any three consecutive digits of the
number is 20. Find the digit D and write the number. 6
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18)Wia, MR ofr w9 a1 yAPERG TewiE @ HE At SR e,
ARSI M 3-3 T T8 FRAT aF Tedl S gedid:” Iy maonell, “4-4

A T FHRIIA Tl Uk BH! Ged;”” U9 TZUTAT, HoAt 5-5 F 7 GR=aT Wb F 9ed %
AP Meaidl TReT 200 Uam $Ht 3/d, av TAPoas Tdid g Bt e
AT ?

18) Joy, Yasmin and Ram had equal number of marbles. Joy said, “I am two short of marbles
to make groups of 3. Yasmin said,” [ am one short to make groups of 4. Ram said, “I am

also one short to make groups of 5. If the number of marbles with each one was less than
200, maximum how many marbles had each of them ?
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19) AT ReeaT RoeaT ISR, TIH ER FHH 3iprare! nfor i srar frer st
IR TR, ¥ AT AR 3elel 37d g dviel gl forar. 6

19) In the addition sum given, the same letters indicate the same digits and the different
letters indicate different digits. Replace the letters by proper digits and rewrite the sum. 6
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20) el THA TRV Tl TRIOIAT W GEmHHihidl a9 [9gd dhefl. df 480 3Aell. g
ST AT el 1 eIl Thd U QFEl ATt 3HTg. R T SHeT dletedn I
g PV el aTfgoid ? 7

20) As a fun, Atul added the page numbers of a book correctly and found that the sum was
480. Noting the sum, he came to know that a leaf of book was repeated. What must be the -«

page numbers of the leaf ? 7
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